@ kéx @ w Negative Exponenten von 10

Name: Datum: Ergebnis:
8 x 10° = 1002 =
393,5+ 1072 = 215,2+ 107 =
484,5 x 107 = 1000 =
1x10° = 218,6 x 1009 =
2% 10° = 1004 =
1071 = 1003 =
411,8 x 107 = 2x10* =
109 = 8% 10% =
443,7+100Y = 100D =
8 x 10 = 7% 10° =
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% ké @ w Negative Exponenten von 10

Name: Datum: Ergebnis:
8 x 10% = 800 1072 = 0.01
393,5+ 1002 = 39350 215,2+ 107" = 2152000
484, 5 x 107 = 48450 1077 = 0.1
1x10° =1 218,6 x 107 = 0.02186
2 x 10% = 200 107 = 0.0001
1077 = 0.1 107 = 0.001
411,8 x 107 = 0.4118 2 x 107 = 200
107 = 0.001 8 x 10% = 800
443, 7+ 10" = 4437000 1077 =0.1
8 x 10% = 800 7x10° =7
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